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LmmLgsEs | 29 [ yc =AY: 4 106 0.19[2%" 12 5 1 E 20 1 REMK. &ITH
EamLsREs | 29 (4L =7 T 4 52 1.05(F vy 48 304 1 T 91| 30 1

EamLsREs | 29 (4L B =7 T 4 53 0.37|M'TY 44 98 1 T 29 30 1

EamLsREs | 29 (4L =7 T 5 6 2.20|p'TY 38 495 1 T 148| 30 1

EamLsREs | 29 (4L =7 T 5 31 1.64[F vy 38 369 1 T 110| 30 1

EamLsREs | 29 (4L =7 T 5 13 0.87|A% 39 212 1 T 63| 30 1

EamLsREs | 29 [#ELL =7 T 5 8 5.00|p'TY 39 1,162 1 T 348 30 1

sussEs| 29 |FELL B -7 T 5 22 0.32|p'TY 38 72 1 T 21| 30 1

kspusskEs| 29 |FELL B -7 T 5 24 0.60|A%" 49 191 1 T 57| 30 1
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tamLssEs | 29 [#L B -7 T 5 19 1.04|=smmzs| 80 109 1 T 32| 30 1
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LmeLgsEs| 29 [ 1= HT 12 36 1.51[FTY 48 306 1 E 4 91| 30 1
kspusskEs| 29 |FELL 1= HT 12 58 0.33|p'TY 45 90 1 T 27| 30 1
dsusskEs| 29 |FELL pcy =AY ] 12 60 0.16|r"TY 45 44 1 T 13| 30 1
LmeLgsEs| 29 [ 1= HT 12 32 1.00(r'Y 45 273 1 E 4 81| 30 1
sussEs| 29 |FELL 1= HT 12 33 0.32|h5vY 71 131 1 T 39 30 1
dsusskEs| 29 |FELL pcy =AY ] 12 59 0.32|p'TY 45 87 1 T 26 30 1
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kemsumsaa| 29 (4L -2 BT 12 63 0.56|M"vY 48 114 1 TE 4 34| 30 1
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kmpLmsEs | 29 [4&1L =720 14 23 2.08|h5%Y 58 530 1 E 4 159| 30 1
LsmmLgmsaEs| 29 [ 172 T 15 81 5.68 (MY 16 0 1 EH 20 1 HREMK
dapLssEs| 29 [#L -7 HT 15 22 0.12|M'TY 40 29 1 EtE 8| 30 1




BR=fE | BES LKLl miE FEEH&%%E?%);%*;??EE FMHO | BEED F‘ﬁ%ﬁggﬁ MIEX E I@? w =
R RFE| RRE | WAH | M | M | ) | B BB )0 e | o |mio || T | T
EamLsREs | 29 (4L pcy =AY ) 15 22 0.12|h5vY 61 45 1 E 13| 30 1
LmeLssEs | 29 [ yc =AY} 15 24 0.12[h5%Y 61 45 1 E 13 30 1
smeLssEs| 29 [ 1= ET 16 8 0.94|k"vY 15 0 1 E 20 1 REMX. &ITH
LmeLgsEs | 29 [ 1= ET 16 38 0.85|k"vY 15 0 1 E 20 1 REMX. &ITH
LmeLgsEs | 29 [ 1= ET 16 40 3.65|MVY 15 0 1 E 20 1 REMX. &ITH
LmeLgsEs | 29 [ yc =AY} 16 47 1.21|FY 15 0 1 E 20 1 REMX. &ITH
LsmeLssEs | 29 [ yc =AY} 16 50 6.47|MVY 14 0 1 E 20 1 REMX. &ITH
LmmLgsEs | 29 [ yc =AY: 16 81 0.39|F VY 14 0 1 E 20 1 REMK. &ITH
EamLsREs | 29 (4L =7 T 17 34 3.12|MTY 42 787 1 T 236 30 1
EamLsREs | 29 (4L B =7 T 17 67 0.16|F"vY 42 40 1 T 12| 30 1
EamLsREs | 29 (4L =7 T 17 7 0.12|p'TY 45 33 1 T 9] 30 1
EamLsREs | 29 (4L =7 T 17 8 0.08(h7vY 65 22 1 T 6| 30 1
taewmags| 29 (4L -7 HT 17 9 0.12|kvY 50 36 1 7E 4 10| 30 1
EamLsREs | 29 [#ELL =7 T 17 17 0.12|p'TY 45 33 1 T 9] 30 1
sussEs| 29 |FELL 1= HT 17 18 0.12|h5vY 65 47 1 T 14| 30 1
kspusskEs| 29 |FELL B -7 T 17 20 0.08|r"TY 65 29 1 T 8| 30 1
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LmeLgsEs| 29 [ 1= HT 18 26 0.76|h77Y 57 191 1 E 4 57| 30 1
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dERILRHES | 29 172 HT 0.20(A7vY 58 73 1 EE 21| 30 1
LesLmsEs| 29 =1 ET 0.32|FvY 40 77 1 EE 23] 30 1
ispLmREs | 29 172 HT 0.48(M'vY 40 116 1 EtE 34| 30 1




Eesm (mes AL Bk EEET HHFMDIRR FEOHNE
T |EE I - B | e | weme | LAPR BRO [FRIA|HHER fw %
(ha) (m3) BiE | MEmI) | $FRE®)
LEpLEsEs | 29 -7 HT 0.44|M'IY 43 114 1 E 4 34 30 1
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kasmmEs | 29 =707 0.04|x&miszs| 70 3 1 EE 0| 30 1
dEmLmHES | 29 -7 0T 0.72|'TY 49 212 1 7E 4 63[ 30 1
dEmLmHES | 29 -7 0T 0.88|M"vY 39 205 1 7E 4 61 30 1
dEmLmHES | 29 -7 0T 3.16|MTY 42 797 1 7E 4 239 30 1
dEmLmHES | 29 -7 0T 0.96 'Yy 42 242 1 7E 4 72| 30 1
daLEkEs | 29 =74 ET 3.09(2% 11 0 1 EH 20 1 REMK. &ITH
tmsngsEs | 29 =75 HT 3.40|FVY 37 738 1 T 221 30 1
daumsEs | 29 17 ET 2.20|FYY 37 477 1 E 4 143 30 1
tmsngsEs | 29 =75 HT 0.44|FvY 37 95 1 T 28 30 1
daumsEs | 29 17 ET 0.24|MvY 36 51 1 E 4 15[ 30 1
daumsEs | 29 17 ET 1.20{FTY 37 260 1 E 4 78| 30 1
damLmsEs | 29 17 ET 0.68|M"vY 36 144 1 E 4 43 30 1
tmsngsEs | 29 =75 HT 4.40|FVVY 37 954 1 T 286 30 1
daumsEs | 29 17 ET 0.12|FvY 37 26 1 E 4 71 30 1
tEEsEs | 29 B -8 2.80|k 7Y 37 607 1 TE 4 182 30 1
tEEsEs | 29 B -8 2.48|M Y 40 597 1 TE 4 179 30 1
tELEsEs | 29 w1728 3.64|MTY 39 846 1 TE 4 253| 30 1
tEEsEs | 29 B -8 3.60|MvY 40 866 1 TE 4 259| 30 1
tELEsEs | 29 B -8 0.96|k 7Y 39 223 1 TE 4 66| 30 1
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LsmeLssEs | 29 [ yc =AY} 29 7 0.04|k"vY 54 13 1 E 3 30 1

EamLsREs | 29 (4L pcy =AY 29 28 0.48|M'TY 45 92 1 T 27| 30 1

EamLsREs | 29 (4L 172 HT 29 36 248y 51 534 1 EE 160| 30 1

taewmags| 29 (A& -7 HT 29 59 0.04|kvY 46 11 1 7E 4 3[ 30 1

EamLsREs | 29 (4L 172 HT 29 64 1.04[F vy 45 284 1 T 85 30 1

EamLsREs | 29 (4L 172 HT 29 69 0.52| A% 48 162 1 T 48 30 1

EamLsREs | 29 (4L pcy =AY 29 71 0.16|F'TY 48 46 1 T 13| 30 1

EamLsREs | 29 [#ELL pcy =AY 29 72 0.08|r"vY 48 23 1 T 6| 30 1

LmeLgsEs| 29 [ 1= HT 29 92 0.80|kvY 45 218 1 E 4 65| 30 1
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LsizLmsEs| 29 (AL -7 HT 29 5 2.81|MVY 42 709 1 E 212| 30 1
EamLsREs | 29 [#LL -7 T 29 25 4.60|p'TY 42 1,160 1 E 348 30 1
EamLsREs | 29 [#LL -7 T 29 35 3.82|MTY 42 963 1 E 288 30 1
fsizLmsEs| 29 (AL -7 HT 29 42 1.51 (MY 42 381 1 E 114 30 1
EamLsREs | 29 (4L pcy =AY ) 29 43 0.84|kvY 43 218 1 EE 65| 30 1
EapLsHEs | 29 |4 pcy =AY ) 29 44 1.00[F'3Y 42 252 1 EE 75| 30 1
EamLsREs | 29 [#ELL pcy =AY ) 29 45 1.00[F'3Y 42 252 1 EE 75| 30 1
EamLsREs | 29 (4L pcy =AY 29 97 2.68|M'TY 40 645 1 EE 193] 30 1
EamLsREs | 29 (4L 172 HT 29 98 0.72|h3vY 57 259 1 EE 77| 30 1
EamLsREs | 29 (4L 1= HT 31 65 0.28|M'TY 42 71 1 EE 21| 30 1
fsizmsEs| 29 (A& =72 HT 32 29 1.56 |x#mnzEst| 75 162 1 EE 48| 30 1
EamLsREs | 29 (4L 172 HT 32 50 0.40|p'TY 40 96 1 EE 28] 30 1
EamLsREs | 29 (4L pcy =AY 32 51 1.24[FvY 40 298 1 EE 89 30 1
EamLsREs | 29 [#ELL pcy =AY 32 56 0.04 |3y 52 5 1 EE 1 30 1
LmeLgsEs| 29 [ 1= HT 32 99 0.72|kvY 39 167 1 EE 50| 30 1
kspusskEs| 29 |FELL 1= HT 33 83 0.21|p'TY 46 59 1 EE 17| 30 1
LsmeLgsEs| 29 [ B 1= HT 33 84 0.19|kvY 48 55 1 EE 16| 30 1
ksmpusskEs| 29 |FELL 1= HT 33 9 0.60(F"vY 39 139 1 EE 41 30 1
LmeLgsEs| 29 [ B 1= HT 33 42 0.80|kvY 39 186 1 EE 55| 30 1
LmeLgsEs| 29 [ B 1= HT 33 55 0.72|kvY 39 167 1 EE 50| 30 1
ksmpusskEs| 29 |FELL pcy =AY ] 35 117 16.41|xsmnzs| 75 1,444 1 E 433 30 1
sussEs| 29 |FELL 1= HT 35 150 6.12|M'TY 38 1,378 1 EE 413 30 1
kamLsHEs | 29 [#LL 172 HT 35 108 0.12|p'TY 48 24 1 EE 7| 30 1
kmpLssEs | 29 [4&1L B 1= HT 35 132 0.80|kvY 45 218 1 EE 65| 30 1
spusskEs| 29 |FELL e =AY} 35 144 0.04|h5%Y 59 10 1 EE 3] 30 1
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EamLsREs | 29 (4L 172 HT 35 129 0.28|A% 46 84 1 T 25 30 1
EamLsREs | 29 (4L pcy =AY 35 130 0.36F"vY 44 96 1 T 28] 30 1
taewmags| 29 (4L -7 HT 35 134 0.04| A% 49 13 1 7E 4 3[ 30 1
sussEs| 29 |FELL 1= HT 35 135 0.28|M'TY 41 69 1 T 20 30 1
kspusskEs| 29 |FELL 1= HT 35 136 0.08|A% 45 16 1 T 4 30 1
LsmeLgsEs| 29 [ 1= HT 35 138 0.80|kvY 44 212 1 E 4 63| 30 1
ksmpusskEs| 29 |FELL 1= HT 35 139 0.20|p'TY 41 50 1 T 15| 30 1
LmeLgsEs| 29 [ 1= HT 35 140 0.12(2%" 41 31 1 E 4 9] 30 1
dsusskEs| 29 |FELL pcy =AY ] 35 141 0.16|r"TY 39 37 1 T 11| 30 1
LmeLgsEs| 29 [ 1= HT 35 146 0.04|kvY 49 12 1 E 4 3] 30 1
LmeLgsEs| 29 [ 1= HT 35 148 0.04|kvY 58 13 1 E 4 3 30 1
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